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C-MOS
[ [
NJU7043 C-MOS
C-MOS
C-MOS
NJU7043D NJU7043M
[
- Voo=1.8 to 5.5V <@
[ _J
e 40mA typ. (at Vo=0V) NJU7043E NJU7043V
™Y Vio=10mV max.
S Vss to Vpp <2
e Ipp=300pA typ. (per Amplifier)
e 1TQ typ. NJU7043RB1
L J lis=1pA typ.
® GND
e NJU7043D DIP8

NJU7043M DMP8
NJU7043E EMP8
NJU7043V SSOP8
NJU7043RB1 TVSP8
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NJU7043

- (Ta=25°C)
Vbp 7 Y,
Vicm Oto7( 1) \Y
Vip +7 V
500 (DIP8)
300 (DMP8)
Po 300 (EMPS8) mwW
250 (SSOP8)
320 (TVSP8)
Topr -40 ~ +85 °C
Tstg -55 ~ +125 °C
D Vob 7V
( 2) IC VDD'VSS
- (Ta=25°C)
Vbb 1.8~55 \%
|
- (Vpp=3.0V, Ta=25°C)
MIN TYP MAX
Iop - 600 1,000 MA
V|o - - 10 mV
s - 1 - pA
||o - 1 - pA
Ay R=10kQ 70 90 - dB
0< Vau<1.5V,
CMR 155Van<30V( 3) 42 60 - dB
SVR 20V < Vo< 50V, Vo=Vl 2 61 80 - dB
Vo|—|1 RL=1G(Q 2.95 - - Vv
VoL1 R=10kQ - - 0.05 \%
VoH2 R=600Q 2.90 - - \%
VoLz2 R=600Q - - 0.10 \
Viewm CMR=450B 0 - 3 \%
( 3 CMR CMR+,CMR-
CMR+ 15sVau<30V CMR- 0< Vou<1.5v
- (Vpp=3.0V, Ta=25°C)
MIN TYP MAX
GB R=10kQ - 0.8 - MHz
THD =1kHz, Virr1Vpp, A-0dB - 0.05 - %
nV/
€n =1kHz - 40 - JHz
- (Vpp=3.0V, Ta=25°C)
MIN TYP MAX
SR R=10kQ - 0.7 - V/us
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NJU7043

Gv = 0dB, Ta=25°C
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NJU7043

™
V*IV'=%1.5V, Gv=40dB, Rf=100k, Rg=1k, C,=0
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V*IV'=%1.5V, Gv=0dB, R =10k, Ta=25°C
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NJU7043
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NJU7043

V*IV'=%1.5V, V,\=-30dBm, Gv=40dB, V*IV'=%1.5V, V|\=-30dBm, Gv=40dB,
R =10k, Rs=50, Rg=1k, Rf=100k, Ta=25°C R =600, Rs=50, Rg=1k, Rf=100k, Ta=25°C
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